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Subject Name: Digital Electronics and Digital Instrument
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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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(i) Convert hexadecimal to octal (ABC)16 = ( )s
(if) Convert binary to decimal (1110.110); = ( )10
(iii) Convert octal to binary (753.24)s = ( )2

(iv) Covert binary to hexadecimal (1), = ( )16
(v) Multiply (1011.11), by (101),

(vi) Subtract (1001), from (1111),

(vii) Convert gray to binary (1011101)gray = ( )2
Explain Error Detecting and Correcting Code with example.

Explain NOR gate as universal gate with truth tables.
Explain full adder with block diagram, truth table, logic equations and logic
diagram.
OR
Explain combined clipper with circuit diagram and waveform.

Prove the following Boolean equations.

() (A+B) + A.B+ (A+B)=A.B

(i) A.B+A.C +A.B.C.(AB+C)=A

What is race around condition? Explain operation of master- slave J-K flip
flop with diagram.

OR
Simplify following Boolean equations.
(i) Y=A.(A + C).(A.B+C)
(ilY= C.D+A.B.D+A.B.C.D+A.C.D
Explain 3- input TTL NAND gate circuit in brief.

Explain T- flip flop with truth table.
Explain 4- bit asynchronous up counter with circuit diagram, clock diagram
and truth table.

OR
What is shift register? Draw circuit diagram and truth table for shift right and
shift left register by using D- flip flop only.
Compare STATIC RAM and DYNAMIC RAM.

Explain working with circuit diagram of successive approximation type
analog to digital converter.

Draw block diagram of digital multimeter and explain its working.
OR

Give comparison between analog and digital instrument.

Draw the logic circuit of following Boolean equation.

Y=(A+B+C+D).(AB.CD)+(AB+C.D)+AB+CD+B+D
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